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| Day 9: Triangle Congruence and Similarity (/_i,g\q%:ﬁﬂ,ﬂ {"T‘;
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Warm-Up: Triangles ABC and PQR are shown below in the coordinate plane: LS‘ \ N
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a. Show that ABC is congruent to PQR with a -

reflection followed by a translation,
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b. If youreverse the order of your reflection and
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c. Find asecond way, different from your work in & ‘
part (a), to map ABC to PQR using translations, b
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d. Explam why the friangles are similar and write NL and ML,
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L Review—Wiatare The 4 shorfeuts to knowing that two Tr'lang!es are congruent?

SIS SAS o ASAT jand MS2

oxys Yo
9‘)\) = M(@M%

%

Ornce we use one of the shortcuts to show that triangles are congruent, we know that the other 3

parts have congruent matches. In Geometry, we state that “corresponding parts of congruent
friangles are congruent, or CPCTC.”
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What other parts of the trigngles are ccnfugruemL by CPCTC?
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Example: Plans for the Ioccmon of a telecommunications tower that is to serve three nor?hern

suburbs of Milwaukee gre-shown-below. Design specifications mdacafez{ he tower should be Ioc_g_j;@_aﬁ’

(;_ that it is equidistant from the center S, U, and Vof.each of the suburbs. In the diagram, line 2 @0

is the perpendicular bisector of SU. Line mis t
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a. Draw line T5and line TU. How can you show that
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Are the following triangles congruent? o A
Explai 70.35° 4
xplain. ‘
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In the previous example, we needed to use the idea
that the three angles of a triangle add to i% i‘gO .

Let’s play with this theorem for a bif...
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